This report contains the transfers results.

Contest Name	Inverness Millburn
Valid Votes	3,508
Positions to be Filled	3
Quota	878

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Ian BROWN	Scottish National Party (SNP)	1,430
David GREGG	Scottish Liberal Democrats	835
Isabelle MACKENZIE	Scottish Conservative and Unionist	757
Lewis WHYTE	Scottish Labour Party	486
	Total	3,508

Candidate Ian BROWN Elected with 1,430 votes, being in excess of the quota of 878

This report contains the transfers results.

# Stage 2 - Surplus of Ian BROWN

552.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David GREGG	451	0.38601	174.09051
Transfer to Isabelle MACKENZIE	64	0.38601	24.70464
Transfer to Lewis WHYTE	445	0.38601	171.77445
No further preference Not transferred due to rounding	470	0.38601	181.42470 0.00570
	Total		552.00000

This report contains the transfers results.

# Stage 3 - Surplus of David GREGG

131.09051

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Isabelle MACKENZIE	266	0.12990	34.55340
Transfer to Lewis WHYTE	379	0.12990	49.23210
Transfer to Isabelle MACKENZIE	46	0.05014	2.30644
Transfer to Lewis WHYTE	306	0.05014	15.34284
No further preference	190	0.12990	24.68100
No further preference	99	0.05014	4.96386
Not transferred due to rounding			0.01087
	Total		131.09051

This report contains the transfers results.

# Stage 4 - Exclusion of Lewis WHYTE

722.34939

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Isabelle MACKENZIE	190	1.00000	190.00000
Transfer to Isabelle MACKENZIE	154	0.38601	59.44554
Transfer to Isabelle MACKENZIE	200	0.12990	25.98000
Transfer to Isabelle MACKENZIE	148	0.05014	7.42072
No further preference	296	1.00000	296.00000
No further preference	291	0.38601	112.32891
No further preference	179	0.12990	23.25210
No further preference	158	0.05014	7.92212
Not transferred due to rounding			0.00000
	Total		722.34939